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1 FEILHILA
(1) FAEA pE T UL
FEARWMEER RN 5,000 6,839 A 1,839
(2) BN
j- U= ESX S 'ON 90,440,000 91,625,000 A 1,185,000
(3) FE EFEMULN
TR S M 57,000,000 67,351,642| A 10,351,642
(4) I PRFERILA
H ) 28 SR 3 W ST PRFE I 2,016,000,000f  2,004,000,000 12,000,000
(5) fHBhAZILA
[E AR Bh A A 3,831,878,000  3,743,212,486 88,665,514
(6) HEILA
HEULA 335,000 1,353,538 A 1,018,538
FEERBNAG (A) 5,995,658,000|  5,907,549,505 88,108,495
2 HELHI
(1) FEHRIH 3,126,504,000f  3,069,569,589 56,934,411
1R FR AR B R S 2,994,754,000  2,953,797,231 40,956,769
ORIt S 9,808,000 6,223,866 3,584,134
S IR S 117,432,000 105,510,813 11,921,187
TER SRS R TN 4,510,000 4,037,679 472,321
(2) EHLF L H 768,133,000 737,912,759 30,220,241
UNCE- S 576,502,000 552,306,839 24,195,161
— R E PR R S 191,631,000 185,605,920 6,025,080
(3) W P RAESIARE S
HH A5 SR W D ORGE AL R S 2,016,000,000|  2,004,000,000 12,000,000
(4) JBBAAF 3
JRIRAG AT S 38,250,000 11,801,767 26,448,233
FEILE X HE (B) 5,948,887,000|  5,823,284,115 125,602,885
FEIGEIN AR (A) - (B) 46,771,000 84,265,390| A 37,494,390
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(1) R B ERARILA 38,250,000 11,801,767 26,448,233
IRTRAG 1B 24 FE BRI A 38,250,000 11,801,767 26,448,233
(2) EHTAETH LA
TE PR A 80,000,000 80,000,000 0
BEIEEULAGE (C) 118,250,000 91,801,767 26,448,233
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(1) FrE B ERAS I
SRIBASAT 5124 & R B A5 3 19,144,000 17,471,717 1,672,283
(2) EBTESTEAIN
TEWITEATEAS 80,000,000 80,000,000 0
BEIGE S HEE (D) 99,144,000 97,471,717 1,672,283
BEIGENIN A% (C) - (D) 19,106,000 A 5,669,950 24,775,950
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1 MBIREIA (E) 0 0 0
2 MEBIEEI
(1) V—AEBRF
V— AMEHIR 82,869,000 69,342,493 13,526,507
WEIEE S HE (F) 82,869,000 69,342,493 13,526,507
MEIEBIC R (E) - (F) A 82,869,000| A 69,342,493| A 13,526,507
EE N G = A+ +E 6,113,908,000|  5,999,351,272 114,556,728
YA (H) = (B)+ (D) + (F) 6,130,900,000|  5,990,098,325 140,801,675
WIS AR n= (G -@ A 16,992,000 9,252,947| A 26,244,947
RN S =R () 144,424,000 144,423,670 330
WIS ERE (K = D+ () 127,432,000 153,676,617 A 26,244,617
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